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Bailment without rewards is called:
a. Pledge b. Hire
¢. Gratuitous Bailment d. All of the above

In a partnership firm, the difference of opinion over some ‘fundamental matter’ can
be settled by:

a. All the partners b. Majority of partners
¢. Senior partners d. Managing partner
It is duty of every partner to act within the scope of:

a. Actual authority b. Implied authority

c. Both (a) and (b) d. Only (b)

In the death of a partner, public notice of death is not given and the firm continues
the business, then for the acts of firm done after his death, the estate of the deceased

partner is:
a. Liable b. Not liable
¢. Treated as security d. Proportionately liable.

A retiring partners has the right to carry on a business competing with that of the
firm, but he cannot

a. Use firm’s name b. Represent himself to be a partner
c. Solicit firm’s existing customers d. All of these

Prior to the Indian Partnership Act, 1932 which came into force from 1 October, 1932
exceplt section69 which came into force from 1 October, 1933, the law of partnership
was provided in:

a. Sale of Goods Act, 1930 b. Indian Contract Act, 1872

¢. Transfer of Property Act, 1908 d. English Partnership Act, 1890.

What is the minimum partner requirement to starta partnership firm?

a; 2 b. 4

a0 d. 11

Liability of the surety is:

1 conditional on default can be conditional and can be
g " independent

¢. independent of default d. either (a) or (b)

Which Section of the Sale of Goods Act define ‘Mercantile agent’?

a. Section 2(9) b. Section 6(11)

¢. Section 4 d. Section 8

A person employed to do any act for another or to represent another in dealing with
a third person is called:

a. Principal b. Agent
<. Employor d. None of these
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